Qn. 8- -
Convert (106)40=( )2
allg3 8RO ng(ammeag@)

~ (108)0 = (110 1010),
Qn.9

Convert (106) 10 = ( )8
lls3 6eNOO) al3@lellenys.
g| 106 -
[ 13-2 T |
1.5 0
(108)40 = (152)5

Qn. 10

(106)10 = ( )16?
- 0ll5} GaldOT wl3@lele03s:.

A

8|__6 |
5~ DA

S0 (106)4¢ = (6A)16



Qn.

11
Convert (55.625)10 = ( ),?
aNS3 Gl wI3@N0H360.

XU First convert 55, for this do the following.

5 55
2/-

}———
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131T
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0
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-1

Write down the remainders from bottom to top.

(55)10 = (110111)2

Next convert 0.625, for this do the following.
Fractional part Result | Integer Part

- 0.625x2 = 1.2560 1
0.250x2 =0.50 0
0.50x2 1=1.0 1

Write down the remalnder from top to bottom
So the answer is

(65.625)49 = (110111.101),

Write down the remainders from top to bottom.
So the answer is

(65.625)410 = (110111.101)2 ,

.12

Convert (55.140625)10 = ( )87 -
ailsg 6alDM 13@]lon]s:.

X[ First convert 55, for this do the following.

8| 55
.6—- 7 '
Write down the remainders from bottom to top

(35)10=(67)s
Next convert 0.140625, for this do the following.

Fractional part Result Integer Part
0.140625x8 =1.125 1 l
0.125x8 =1.0 1

Write down the remainders from top to bottom
So the answer is
(55.140625)10 = (67.11)g

.13

(55.515625)10=( )45
0llg3 €O o13Elelenlb.

Y@= First convert 55, for this do the following.

L%

‘Write down the remainders from bottom to t0p :

ie. (59)10 = (37)16
Next convert .515625

Fractional part | Result | Integer Part
.515625x16 = 8.25 8
0.25x16 =4.0 4

"So the answer is
(55.515625) 10 = (37.84) ¢




Qn. 14
Convert (101.101)2 = ( )10?
alls3 GaldWO )3E1ENONG:.

101.101 = 1x22 + 0x21+1x2%+1x2 1+0x22+1x2
= 4+0+1+ 1/2+0+1/8 = 5+ 0.5+ 0.125
(101.101), = (5.625)10

Qn. 15
Cconvert (71.24)s = ( )10?
alls3 6 IO o3RO0
71.24 = 7x8'+1x8%+2x81+4x82
= 56+1+ 2/8 + 4/82
= 57 + 0.25 + 0.0625

(71.24)g = (57.3125)4¢

Qn. 16

Convert (AB.88)6=( )10?
Qafls3 8O 13@lE036.

10 11
A B.8 8
N N T

161 16° 1671 1672
= 160+ 11+ 0.5+ 0.03125

Qn. 17
Convert (1011)2 = ( )87
ailg3 IO al@llen36:.

X Step I: First divide the number into groups of 3 bits
starting from the right side and insert. necessary
zeroes in the left side.

001|011
Step II: Next write down the octal equivalent.
001 0 11

®

So the answer is
(1011), = (13)g

Qn. 18
Convert (110100) = ( )46?
ils3 CaldOF 1@l Sa3e:.

X Step I: First divide the number into groups of 4 bits
starting from the right side and insert necessary
zeroes in the left side.

Step II: Next write down the hexadecimal equiva-

lent.
0011|0100
P
3 . 4

So the answer is .
(110100), = (34)4¢




